MIMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474

BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

Designer Products LLC dba Cambek Designer Doors

702 Troy Street

River Falls, WI 54022

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product
Control Section to be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction
(AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section
(In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have this
product or material tested for quality assurance purposes. If this product or material fails to perform in the accepted
manner, the manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or
suspend the use of such product or material within their jurisdiction. RER reserves the right to revoke this acceptance,
if it is determined by Miami-Dade County Product Control Section that this product or material fails to meet the
requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Insulated and Glazed Wood Sectional Garage Door up to 10’-6” Wide

APPROVAL DOCUMENT: Drawing No. 1140, titled “10’-6” Wide Glazed Hurricane Impact Wood Garage
Doors”, sheets 1 through 5 of 5, prepared by W. W. Schaefer Engineering & Consulting, P.A., dated 07/24/2002, with
last revision F1 dated 11/13/2018, signed and sealed by Warren W. Schaefer, P.E., bearing the Miami-Dade County
Product Control revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County
Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model/series
number, the positive and negative design pressure rating, indicate impact rated if applicable, installation instruction
drawing reference number, approval number (NOA), the applicable test standards, and the statement reading ‘Miami-
Dade County Product Control Approved’ is to be located on the door’s side track, bottom angle, or inner surface of a
panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product,
for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section
of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.
INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official. An original signed and sealed
company letter from Designer Doors, Inc., is required, proving that the 10°-6” wide Glazed Wood Sectional Garage
Door was purchased from them in order for this NOA to be valid on any job.
This NOA revises NOA # 17-0712.11 and consists of this page 1 and evidence pages E-1, E-2 and E-3, as well as
approval document mentioned above.
The submitted documentation was reviewed by Carlos M. Utrera, P.E.
NOA No. 18-1128.05
M'AMIUNTY Expiration Date: October 10, 2022
Approval Date: January 10, 2019
Page 1




Designer Products LLC dba Cambek Designer Doors

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. Evidence Submitted Under Previous NOAs

A. DRAWINGS “Submitted under NOA # 16-1216.06”

1.

Drawing No. 1140, titled “10°-6” Wide Glazed Hurricane Impact Wood Garage Doors”,
sheets 1 through 5 of 5, prepared by W. W. Schaefer Engineering & Consulting, P.A., dated
07/24/2002, with last revision E1 dated 12/12/2016, signed and sealed by Warren W.
Schaefer, P.E.

B. TESTS “Submitted under NOA # 10-1119.01”

1.

Test reports on 1) Large Missile Impact Test per FBC, TAS 201-94
2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram on a Series/Model H2/4 Section,
glazed garage door, prepared by Architectural Testing, Inc., Test Report No. 94833.01-201-
18, dated 01/13/2010, signed and sealed by Joseph A. Reed, P.E.
Addendum letter to Test Reports No. 87472.01-201-18 and 87473.01-201-18 on Forced Entry
Test per FBC, FBC 2411 3.2.1, TAS 202-94, prepared by Architectural Testing, Inc., dated
08/18/2009, signed and sealed by Joseph A. Reed, P.E.

“Submitted under NOA # 02-0807.01”

Test reports on 1) Uniform Static Air Pressure Test Loading per SFBC, PA 202-94

2) Cyclic Wind Pressure Loading per SFBC, PA 203-94

3) Large Missile Impact Test per SFBC, PA 201-94
along with marked-up drawings and installation diagram of a glazed wood clad garage door,
both prepared by Architectural Testing, Inc., Test Report No. 02-33027.01 and No. 02-
33946.01, dated 10/10/2001 and 03/07/2002, signed and sealed by Allen Reeves, P.E. and
Steven Urich, P.E. respectively.

C. CALCULATIONS “Submitted under NOA # 16-1216.06”

1.

Anchor verification calculations prepared by W.W. Schaefer Engineering & Consulting, P.A.,
dated 11/27/2001 andrevised on 12/12/2016, signed and sealed by Warren W. Schaefer, P.E.

“Submitted under NOA # 10-1119.01”
Anchor verification calculations prepared by W.W. Schaefer Engineering & Consulting, P.A.,
dated 11/27/2001 and revised 11/15/2010, signed and sealed by Warren W. Schaefer, P.E.

D. QUALITY ASSURANCE

1.

Miami-Dade Department of Regulatory and Economic Resources (RER)

et

o foy J:f»f’
) pria

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 18-1128.05

Expiration Date: October 10, 2022
Approval Date: January 10, 2019




Desisner Products LL.C dba Cambek Designer Doors

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 16-1117.01, issued to Kurai’ay America, Inc. for their “Trosifol®
Ultraclear, Clear and Color PVB Glass Interlayers” approved on 01/19/2017, expiring on
04/08/2019.
2. Notice of Acceptance No. 15-1201.11 issued to Eastman Chemical Company (MA) for their
“Saflex Clear and Color Glass Interlayers” approved on 03/17/2016, expiring on

05/21/2021.
F. STATEMENTS “Submitted under NOA # 16-1216.06”
1. Statement letter of code conformance to the 5% edition (2014) FBC issued by W.W. Schaefer
Engineering & Consulting, P.A., dated 12/12/2016, signed and sealed by Warren W. Schaefer,
P.E.
2. Statement letter of no financial interest, issued by W.W. Schaefer Engineering & Consulting,

P.A., dated 12/12/2016, signed and sealed by Warren W. Schaefer, P.E.

“Submitted under NOA # 14-1118.08”
3. Asset purchase agreement dated 04/25/2014.

2. Evidence submitted under NOA # 17-0712.11

A. DRAWINGS

1. None.
B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 6® Edition (2017) FBC issued by W.W. Schaefer

Engineering & Consulting, P.A., dated 07/06/2017, signed and sealed by Warren W. Schaefer,

P.E.

7

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 18-1128.05

Expiration Date: October 10, 2022
Approval Date: January 10, 2019



Designer Products LLC dba Cambek Designer Doors

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

3. New evidence submitted

A. DRAWINGS
1. Drawing No. 1140, titled “10°-6” Wide Glazed Hurricane Impact Wood Garage
Doors”, sheets 1 through 5 of 5, prepared by W. W. Schaefer Engineering &
Consulting, P.A., dated 07/24/2002, with last revision F1 dated 11/13/2018, signed
and sealed by Warren W. Schaefer, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Asset purchase agreement dated 11/08/2017.

4 ¥y 4
| e
v o
I i fin =) 2
H y

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 18-1128.05

Expiration Date: October 10, 2022
Approval Date: January 10, 2019



THESE DRAWINGS ARE APPLICABLE ONLY TO THE[JoRawN BY:

CHECKED BY:

W
e

S

/ "4

T
b

™
\

o
!

frovoggant

AL ©

ENE L OTES: PRODUCT SPECIFIED. THEY MAY NOT BE USED WW.S. W.W.S.
1. THIS PRODUCT HAS BEEN TESTED, ANALYZED & APPROVED FOR DESIGN PRESSURES NOT TO 3. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS PRODUCT. ALLOWABLE DESIGN LOAD | o T asseusix axo/or wsalisnon o i
o TS S 7k ouEs el A ) i e DR i o T T o i B R T o [T (B
. : PROPERLY DESIGNED & INSTALLED TO ! : :
%RAN%?EE'NV‘%%DBBOCA%‘,;GTSC E STRUCIRE T BE PROPERLY DESIGNED & INSTALLED T OTHER DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS OF FLORIDA BUILDING CODE. POSITIVE NEGATIVE ANY FRODUCT NOT PRODUCED BY THE MEHEHHEE
3. ALL HARDWARE & FASTENERS SMALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NOT  11. All WOOD MEMBERS OF THIS PRODUCT THAT MAY POSSIBLY COME INTO CONTACT WITH MASONRY MANUFACTURER STATED ON THESE DRAWRGS: I=1Z) |22
VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED ANCHOR EMBED TO BASE OR CONCRETE SUBSTRATES, ARE SUBJECT TO MOISTURE &/OR ARE SUBJECT TO THE OUTSIDE 48 PSF 65 PSF g I S S Y
MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO. ENVIRONMENT SHALL BE OF AN APPROVED DURABLE SPECIES OR BE TREATED IN AN APPROVED
4. THE DETALS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & PROPOSED METHOD WITH AN APPROVED PRESERVATNE PER FBC REQUIREMENTS. slz| |glelele
FOR CONFORMANCE WITH THE FLORIDA BUILDING CODE PROTOCOLS TAS-201, 202 & 203 FOR LARGE » SEE INSTALLATION £
MISSILE IMPACT PRODUCTS. 51/4 DETAILS ON SHEET 5
5. THIS PRODUCT HAS BEEN DESIGNED IN ACCORDANCE WITH AND MEETS THE REQUIREMENTS OF (TYP. ALL VERTICALS) -~ S HERRER
THE FLORIDA BUILDING CODE (FBC) INCLUDING HIGH VELOCITY HURRICANE ZONES (HVHZ). | | R HHAHHE
6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THIS PRODUCT. ; / \ A HEEHE
7. ALL ANCHORS SECURING PRODUCT FRAMES TO PRESSURE TREATED BUCKS OR WOOD FRAMING Blalciels|ols
SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN / El51512|%|8|3
THE WOOD. 1V AHHHEE
B DETERVINE THE POSTIVE & NEGATVE DESION LOADS TO USE WHEN REFERENCNG THESE  SEE SECTION CONFIGURATIONS ON syeer——  SECTION /A N S HRE % 3 %‘
DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND A S = N HERE
o CALCULATIONS N ACGORDANGE WITH THE FLORIDA BUILDING CODE, A DIRECTIONALTY FACTOR OF 2 FTOR MAKE—-UP OF PANELS. SCALE: 3/4"=1"-0"\1J g -k g § g ‘g
= 0.85 PPLIED PER THE ASCE—7 STANDARD. ” . . gl 5
Kd = 0.85 MAY BE APPLIED PER THE ASCE-7 STANDA 11/2 126" MAX. DOOR WIDTH | 1.1/2 slzl Islzlzle
ANGLE ANCHOR (SEE INSTALATION DETAILS ON SHEET 4) C . -
g -
Y o T ,, & | o | E] e
: ‘ /v +/ 6 1/8" MIN. 1 —37/16 glas .
e
l_ ) 3 ET Ty ..D S
| w4 " = T g log2s
\ *3 / / :0 ) 31D o )-g 1
—T— q O w O -~
!. IM' g 1 7/16" J A // // // / MAX. g |gaEvy,
> — - » b ]
1 a L @ . 52 3/4” MAX. D.LO. — 19° MAX. / 25 3/8 S |pxaz !
N D.LO. 10 b8
< bose | ) IN—1/4-20 BOLTS SEE DETAL 2 (D) CEN 1 30" 5 1E2 e
ST |V (2 PER TRACK | ON SHEET 3 NS ~ 3/ ~ F 2=z 4
b1l SECTION END § o I® F
I Pa Zloo
A 6 i A A 4 b y [ 3
1 3 ] & * L 5
; l:\_@ i ® i§ §i 8 ». I g g
- : O = L
EE | ( ' \ SEE DETAIL 4 2% e o EE
Ll et ON SHEET 3 ANRI SEE "MIDDLE HINGE| DETAIL” 2 - o I 2
=T 1/4-20 BOLT SEE DETAIL 1 7 x - 28] 23
N Z 0
, Fers 4 94 t0 ] 5 o ©
. |1, TRACK TO P £ ool Hs 2
*2 N[ ANGLE [ =18 / v ) vav;[" N N e
L 13 5 == ; - i Faee == we 18" % | 2] <22
= 3 | | (TYP.) )——SEE EDGE HINGE DETAIL SEE "SLIDE LOCK DETAIL o o | F] Makgs
H -~ g~
: P k }—*- § ON SHEET 4 ON SHEET 4 22 38" & .«l) ég ggé
= ><' — - L‘J-— OO\O
=3 | ) =L i A A AV {8 kLe|,E5%
| P 3 1 1 1 1 4 8”’ gag
N S48 k¥ - 2 23
——f3=  SEE SECTION—h || %% s B9,
| | CONFIGURATIONS Ol , \ \ : =g’
e | L ON SHEET 2 : 29 7/87 MAX. ——w=— 28 5/8" MAX. —mi=— 28 5/8" MAX. —=— 29 7/8" MAX. | Hps 1187
*Z | I FOR MAKE-UP N } B
| OF PANELS \ (N PRODUCT REVISED
+ I 12 3 / 8" MAX. i 7 as complying with the Florida -
_.% . = < = . Building Code — .
| | { S \/—SEE DETALL 3 \@ NOA-No.____ 18-1128.05 So
N L od [ ON SHEET 4 ]
= 5 ! ‘ 1 12 1/4" l 4 U\J\ Myiami—Dadgfﬁro Control ':E’_‘%
2 ! N~/ !
RN (A Ch— INTERIOR _ELEVATION D 1 s/8 ]
) /B&Q NOTE: DOOR HEIGHT MAY BE INCREASED BY UP TO 22 3/8” INCREMENTS TRAWING NO. [ ReY.
13/8" , SECTION /&Y TO A MAXIMUM OF 24 FT. PROVIDING ADDITIONAL CENTER PANEL(S) IS PLACED. 1140 | F
- SHEET NO.
C SCALE: 3/4"=1'-0" \_/ 2-LIGHT DOOR SHOWN; SEE SHEET 2 FOR 3—LIGHT CONDITION. 1 o 5




126" MAX. DOOR WIDTH 2 3/}3" THK. WOOD FRAME MEMBERS 1267 MAX. DOOR WIDTH O
5/47 1 5 1/47 MIN. 5 1/4" MIN. —=] Lee 5 1/4” WIDE AT VERTICAL PERIMETERS s 1/4" __} |_ 5 1/4” MIN. » L PLOT: DAIE:
M i ’ | & INTERMEDIATES; 5 1/8” WIDE AT MK, e 51/47 N — o
TOP & BOTTOM HORIZONTALS; 2 1/2” | * B
MAX. WIDE EACH SIDE OF HORIZONTAL PANEL £
A T S—=ll  le— & 7/8" MIN. 25 3/8 < . YA 1 VA MAX. &
/52 3/4" MAX. D-LO-/—» // B 4 1/27 MIN. // IS SEANS) TO BE,, POUGLAS FIR- ; 3 <—/52 3/47 MAX. D.I_O.—/——- // . A 25%/ 8
197 MAX 0 1 3/8” POLYSTYRENE %o e 7 o .
DLO. - T = INSULATION { A
| I N & 1/4” SUPER-PLY PLYWOOD 4 7/8" "
B BoRRDs || [potX 18 & (INTERIOR & EXTERIOR) N P i
' T0 22 3/8 - SECURED TO THE PANEL FRAME DOOR FACE 022 3/8" . |I&
| 3 & STILES WITH GLUE & /- £ |8
- } % STAPLES (TYP.) / < |13
et He— 4 1/27 DOOR MAX. 187 = » -~ % |la
. P—MIN. 9/16" THK. MAX- 18 = iz
FACE TO 22 3/8" = .
| : 7y V—GROOVE WOOD FACE 22 3/8 o |&
I i (MIN 4" WIDE STRIPS) = 5
5 3 2" WIDE 2 |2
- MAX. BASE STRIP : MAX.
41/2 25 3/8" . -
e o TYP. V-GROOVE PANEL 2 BLENDED BOTTOM BOARD 25 3/8 2l o
2172 (V-GROOVE MAY RUN IN ANY DIRECTION) 29 1/2 2198
/ i -5 o
L - (@]
TYP. RAISED' PANEL b L 1257 WA, 0OOR WO TYP. FLAT PANEL ¢ |gs 38
——] f— 1/47 MIN. ” ] e
EXTERIOR ELEVATION i v 5 /4N EXTERIOR ELEVATION 513578
D |
(2—-LIGHT DOOR SHOWN; SEE BELOW FOR TYP. ELEVATION f | (2—LIGHT DOOR SHOWN; SEE BELOW FOR TYP. ELEVATION o 1288
OF 3—LIGHT DOOR SECTION ALSO APPLICABLE) x 4 1 S s 778" . MAX. OF 3—LIGHT DOOR SECTION ALSO APPLICABLE) O ja }——j§
is 7 ) /4 25 3/8 S laxaz !
. 3| 52 3/47 MAX. DLO. ] {_4 1/2" MIN. // T0 = 55 ELLS
1 3/8” THK. WOOD FRAME MEMBERS 2 30" D 3/8" THK. W = |Een,
(5 1/4” WIDE AT VERTICAL PERIMETERS J = 5 / /4" WIDE T VERTOAL PERMETERS 225 ¢
& INTERMEDIATES; 5 1/8” WIDE AT % //f///// . B & INTERMEDIATES; 5 1/8" WIDE AT = l8g ©
TOP & BOTTOM HORIZONTALS; 2 1/2 s MAX. 18" 35 TOP & BOTTOM HORIZONTALS; 2 1/2” wle 2
WIDE EACH SIDE OF HORIZONTAL PANEL / /To 22 3/8 . WIDE EACH SIDE OF FORIZONTAL Fanel || 2 Ig o
7 & 5
SEAMS) TO BE DOUGLAS FIR. 7 Y /| & SEAMS) TO BE DOUGLAS FIR. Sie
1/4” SUPER-PLY PLYWOOD / / wax 18" 3 1 3/8” POLYSTYRENE. E |2
(INTERIOR FACE & EXTERIOR) / 10 22 3/8" =, INSULATION 2 |2
SECURED TO THE PANEL FRAME / < ) ~ =
& STILES WITH GLUE & Z Z - —1/4" SUPER-PLY al o3
// 2 PLYWOOD (INTERIOR 23
- STAPLES (TYP.) s FACE) | ES .
25 3/8" , w3
1 3/8" o |—1/4” SUPER—-PLY——, S
POLYSTYRENE / // 29 1/2 PLYWOOD ol 2,8
INSULATION / A VN, 1/2" THK | Yalkgs
- - - y 2 5 A 8'5“\
TYP. V—GROOVE PANEL PRIMED MDO PLYWOOD o | B S%s
EXTERIOR ELEVATION SECURED T0 THE PANE LD £5 85g
" V—GROOVE MAY RUN IN ANY DIRECTION AME & STILES WITH =T 12 Q3m gez
W 5 4 Tk FACE. BOARDS (Z—UG(HT 300 SHOWN. SEE BHLOW FOR TP, ELEVATION TYP. FLAT PANEL oLk & stoies () [ [E22 %5
. . > N X = 2F0 &
SECURED TO THE PANEL FRAME OF 3—LIGHT DOOR SECTION ALSO APPLICABLE) 1 e
& STILES WITH GLUE & | T o
STAPLES (TYP.) o ;if,‘, .
126" MAX. DOOR WIDTH N %& ; 5/\'9 S
51/4 _ | |._ 5 1/4 MIN. 5 1/4" MN. ——] | . ",
TYP. RAISED PANEL MIN. I PRODUCT REVISED
| I as complying with the Florida
N uilding Code
s /7/ N A\ N 25 375" NOA-No. 18-1128.05
o /4 N r* 1/2" MIN. - Expiration Date 10/10/2022
NOTE: GLAZED DOOR SECTION MAY BE f T \ f By AL e
. 1ami—-bDa Proauc ontro
LOCATED EITHER AT THE TOP OR TOP R L U
MIDDLE SECTIONAL OF THE DOOR. TYP. 3—LIGHT SECTION 1140
2 o




SEE G‘—AZIN DRAWN BY: CHECKED BY:
G . \Tivw.s. WW.S.
DETALL //@ 1 1/27 BRAD NAILS N
: SEE GLAZING - WITHIN 1 1/2" OF
U A I~ ){/@ OPTIONS BELOW ENDS & MAX. 3" 0.C. |
- | 7/16” X 1" GLASS
EN STOP (DOUGLAS FIR) -
) GE 1200 STRUCTURAL /16"
SILICONE EA.
o N TN_STRUT IS PLACED SLCONE EA- SIDE OF [ e <
X 4.5 N OVER HINGE AS , £
o H SHOWN AT GLAZED TRIM BOARD TO [} fI &
j | SECTION OF DOOR. MATCH EXTERIOR g f g
e o\ PANELING Z/ g /4" SUPER-PLY s
. ] 1l (2 LAYERS GLUED z
) 0 /D/Q—¥ EXTERIOR & STAPLED TO FRAME)
SEE ' I \t\@ CHEMREX 948 ADHESIVE 2
GLAZING 4 | FRAME MEMBER (CONTINUOUS)
N gy ‘ (DOUGLAS FIR) § 2l o,
DETAIL -4 | » - 1 .3/8" MIN. S|, 2
\ " (] 38 ~
) 2 1/2 178 «
LM & G S0
o il . é Ty T o N
- Nee GLAZING DETAIL 135878
| paNEL S |32 %5
/ 1 OPTION 1: 3/8” LAMINATED GLASS (1/8” s le_ 29
AN/0.09 EASTMAN CHEM. CO. SAFLEX/1/8” AN) = |gmoicg
OPTION 2: 3/8” LAMINATED GLASS (1/8 5123 =
DETAIL 4 AN/0.09 KURARAY (PREVIOUSLY DUPONT) LIS &
BUTACITE PVB/1/8” AN) =z |8, ¥
| 57/8" | w | S
MIN. zZ
I .5 1!/4"___. ~—6 1/8" MIN. —— TRIM BOARD TO |2
MIN. " z
25 TRIM BOARD TO 4 7/8 ] / NG R 2 [
— MATCH EXTERIOR MIN. ~ =
PANELING SEE GLAZING T
ze
25 FRAME MEMBER DETAIL 3| Gc
. O I
4 Pl MIN. = | 5<257
@_4@ NN T 1 ST Pl Uakgs
/ 13/8" : o | wgoes
. = y - L LL:'Z gom
@ 7 / < > P / / = %g “—’gg
DA , = > < DA 2" |33 582
N % | FRAME MEMBER I SRy e |5.573
- DOUGLAS FIR 2.
: ( ) & STAPLED TO FRAME) 1\ E 3z
5 TEF
T c RY N L\.!
| (REF) SEE INSTALLATION DETAILS \-1 /4" SUPER—PLY xSTRUT BEYOND (REF.) g‘g@im ,.5:3, Y .
N [ ON SHEET 5 FOR DETAIL (2 LAYERS GLUED SECTION P *23*‘,-"‘ I, - ; €3
\ OF TRACK INSTALLATION & STAPLED TO FRAME) (EN S by
\/ | SCALE: 1/4 FULL \3./ =%F Z |E £
~ - W oy k|l a2
SECTION /B Z2i0 F «g 2
DETAIL 1 SCALE: 1/4 FULL \3J PRODUCT REVISED = 23> 2 [fHO: =
as complying with the Florida = O3 ON, ¢ vy
: Building Code ~ %;ﬁp o x
NOA-No. ’ ey Ch menaesi® of
o 18-1128.05 Illfr/g/i e P }\(,)Q . .
Expiration v-’ 10/1 0/2022 fi}éﬁi?@% %WWING NO. [REV.
By w77 1140 F
Miami-Dade Product Control SHEET NO.
’ 3 o 5

’




DRAWN BY: CHECKED By:

o

f@ B}
i |

0.250 WWS. WWS.
LOT1=4 g;:/u/az
. 2719 TJ: THICKNESS = 20 GA. — 0.500
L/ 0.438 (0.034” FINISHED) w
A . =
alme ! @ %l\ A2 |~ 6.688 £ ST :
i d lr // N \\ 1.76 | |l ]T o
) | « X T
- ' R
. @ ; ® = ] 0.531 f 3.000 - 3
- / 0 3” REINFORCING STRUT =
O 1 Bo o) fod o N o NYLON ROLLER WITH @ 7
RN S IS S AIS|_STEEL ROD 2
) . \J/ l —— 2.416 |[=— g
b © ° B, -R=0.48 ||*
E'u'.j 5 ol Io QLo : © 425 OR 500 ——— | 50 ] 1280—] | -
- | ‘ \@/ - ' | 1500 { il 2
, ] é) 15 @\ / —~—0.120 0.500 i % o
O 7 NN AV 0.500 o] o £0~5 g las
Ol . S NN 7 I - 3 28 &
| [ O AN N©] - D=0.35— == 3 BTR -
\/i ! L ~ o [l } 1.300jJr ° 0 o | z [5Y5 g
| | MIDDLE HINGE DET =L *"ﬁ —— sy S 38:=7
FEDGE HINGE DETAIL SLIDE LOCK AL - U / 20 GA—] o |RRFsT
DETAIL g {E2~33
15 LT IAL (MAY BE LOCATED AT b pogs/ [ 2000—] |=—0630 PIN ® S | vz
J——— i SE— =u. Lul.uo (o]
0.105 —=f=— /TR0 EITHER SIDE OF DOOR) (3) HURRICANE BRACKET 0105 ~—f==_| 1635 |— 5 [£27:8
! 11.000 o lmo =
0 1 500 - . 4540 | (4) SINGLE PIN HINGE | & g5 =
n 0.680 , 013 4.300 0.083 zf°
° ¥ °l FOVS | ' Ea ' D=0.31 9 ‘ — 1.000 3 5
) - 2 @ K ) ﬁg % .'if“
:}— i S - r* ~ - 034 e o o ol QY0 + 2 ]
1.300 T - ~ Q@ 5 5 = T 0.079 _} al »2
20 GA—A : - ! ~% = o B MN Nl 23
PIN i B = g U\ g I il 2
1.50 ® ‘ 5 < \( " t O Ws:a,
ox T R=0.19 20— | TN, w| 575,
1.80 bl 2625 = 0.500 ‘ = | 53 5sd
| e ————— (8) IRACK ANGLE T ™3
(5) DOUBLE PIN HINGE — 1 01459~ T— R=0.31 o | B iz
0.984 ‘ 1.-— 4.700 —»]| 0.89 o | £5 35y
1498 | 3307 | | Al PRSI
1 ] , (7) ADJUSTABLE TOP BRACKET (9) IRACK . L33
JC{ ) " 0.740 — 0-290 1500:{‘ : Z‘ 23.0 .
1 0.157 — ' 1.000 ' KU =217
%}":‘( (‘\’E‘R &Q?i 2z ;
f 7.087 (5)BOTIOM CABLE BRACKET S D
0 0 00 0 |¢0.394 T ‘ %gtg fﬁ : %%;
) PRODUCT REVISED AR =
8[ éj I_— U § as complying with the Florida f;.f\; %, = ] {<\:"‘“ . z:
S ™~ . Building Code < &.‘*.a% Q:_,w/c:,) \,:'- i
| 0.551 i NOA-No. 18-1128.05 ’;,iié;% x :Qﬁ‘{;}g@ 5
1 Sohoo 0.965 — ‘L Expiration , 10/10/2022 ELERT] XL o
»0.276 M)i’ami—Da’dg Product Control s‘lHlé.roNo. F
@SLIDE LOCK Lo 5




77

MEM #|  PART ITEM DESCRIPTION | MANUFACTURER/NOTES  |[P™m2: |oEgeR ™
MIN. (£) 2X STUDS (SYP 3/8” DIA POWERS POWER-STUD ~ __| 3" PARTS & FRRONARE o
WITH S.G.=0.55 MIN.) ) SD1, POWERS POWER-STUD SD2, MIN, 1_[1030-0269]ROLLER NYLON W/AISI 1045 SIL_ROD e W2/
REQUIRED BY OTHERS 3/47 MIN. POWERS WEDGE BOLT SCREW 2 11030~0213|3" REINFORCING STRUT (2 PER PANEL) |GALY. BO KSI STEEL N
ANCHOR, HILT! HUS—H SCREW 3 }8%8:8%2; HURRICANE BRACKET GALY. 36 KSI STEEL 5
” A ANCHOR OR HILTI KWIK—BOLT 3 4 |1030—0123|SINGLE_ROLLER HINGE GALV. 36 KSI STEEL
S”/ N162 L%l\/GZB(%léTA r\x\l/llxng -—\ EXPANSION ANCHOR (MIN. EMBED 5 5 }8%8:8}%% DOUBLE ROLLER HINGE GALY. 36 KSI STEEL %
UBED 10 PENETRATE 0 SUBSTRATE = ) 4 ST ane e
ING < 1030~ A ALV, z
?TTSDEg ((l)Di’;?ETD%ILLFR?% 6" a N OPTIONAL TRIM PIECE 8 [1030—0085|TRACK ANGLE (TAPERED) GALY. 33 KSI STEEL £
DIAL HOLE IN FRAMING) 9 |1030-0227|VERTICAL TRACK (HORIZ. TRACK SIMILAR) |GALY. 33 KSI STEEL €
g NOTE: CONCRETE MUST 10 |1030—0063] HORIZONTAL REINFORCEMENT ANGLE GALY. 33 KSI STEEL 3
z PSI MISCELLANEOUS FASTENERS °
OPTIONAL TR!M PlECE\ é BE MtN 2000 S N 11 - 1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW ALIGNED WITH HINGES CENTERLINES 5
2 L = - PER ELEVATION 2
/ Z : < ] 12 - 3/8-16 BOIT 2 AT EACH TOP BRACKET g
N = 13 - 1/4-20 X 5/8 RiB NECK TRACK BOLT 1 PER HURRICANE BRACKET T0O TRACK i
5:8:?:; §><§ M §><§ 3 14 - 1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 8 PER TOP BRACKET e
A 5 === 3 = 2 \—@ 15 - 1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 4 PER HINGE (6 PER EDGE HINGE)
{ 16 — TRACK ANCHOR AT TOP & BOTTOM OF TRACK ANGLE | PER INSTALLATION DETAIL W/0 BRACKET v
[:j“y ﬁ d qu JﬂLr 17 — 1/4~20 X 5/8 RIB NECK TRACK BOLT 4 AT TRACK SEAM (TRACK TO ANGLE) g )
18 - 1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 10 PER BOTIOM CABLE BRACKET (@] (&) OO:
13 “@ 19 - 1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 4 PER SUDE LOCK o140 g
" LOCKING HARDWARE wl™2 S5
l 3 I . ) 22 [1030-0199]SLIDE LOCK |STEEL 1018 ZINC PLATED g ;.“-’5 #u‘g 9
OZW0 _n
INSTALATION DETAIL INSTALATION DETAIL PANEL NOTES: Fiy RO =9
w
DIRECT TO WOOD FRAMING DIRECT TO FILLED BLOCK 1. HORIZONTAL & VERTICAL FRAME MEMBERS ARE EDGE o |CERug
OR_SOLID CONCRETE COPED, BUTTED TOGETHER & GLUED WITH "GORILLA GLUE.” 3 |x H:’:C;'
IN ADDITION, THE VERTICAL MEMBERS ARE SCREWED TO = eS80
- 3/8" Dia POWERS POWER-STUD FROM THE BACK FACE oF THE 0GR, e ANGLED 5|32 5®
WER-STUD SD2, : le=
MIN. (4) 2X_ STUDS (SYP P = 2. SUPER-PLY PLYWOOD IS STAPLED TO THE FRAME WITH S
WITH S.G.=0.55 MIN.) i ANCHOR. HILTI HUS—H SCREW 3 18 GA. X 5/8” X 1/4” STAPLES AND GLUED WITH =log
REQUIRED BY OTHERS —= |=—3/4" MIN- : e MIN. CHEMREX 948 URETHANE ADHESIVE. wle 5
ANCHOR OR HILTI KWIK—BOLT 3 z |5
5/16" LAG BOLT WITH - EXPANSION ANCHOR (MIN. EMBED T 3. THE EXTERIOR PANEL/STRIPS ARE ATTACHED TO" THE ) 5 5
VN, 2 172" FRAMING . A e : h SUPER—PLY AND FRAME WITH 18 GA. X 1 1/2" X 1/4 S g
EMBED Th PENETRATE D INTO SUBSTRATE = 37) —————— C90 CONCRETE BLOCK ~ STAPLES AND CHEMREX 948 URETHANE ADHESIVE. S El
EITHER OF THE FRAMING N MIN. 2X6 NO. 2 I WITH MIN. 2000 PSI 4. EXTERIOR FINISH WOOD (PANELS/STRIPS) USED IN TESTING 2 |5
STUDS (PREDRILL 3/16" SOUTHERN PINE. - GROUTED CELLS OR WAS NO. 2 WESTERN RED CEDAR WITH A SPECIFIC GRAVITY =
DIAL HOLE IN FRAMING) 4 PT . MIN. 2500 PSI SOLD OF G = 0.32. OTHER WOOD SPECIES APPLICABLE FOR USE B 0o
N o -4 CONCRETE WITH THIS PRODUCT ARE THOSE WITH A SPECIFIC GRAVITY N é% -
MIN. 2X6 NO. 2 2 OPTIONAL TRIM PIECE OF 0.32 OR GREATER. g B 2
SOUTHERN PINE \( W 2 5. ALL INTERIOR FRAME MEMBERS SHALL BE W3S =3,
PT. \ z NOTE: CONCRETE MUST NO. 2 DOUGLAS FIR WITH G = 0.48. g o §d§
y z BE MIN 2000 PSI = 6. IT IS THE OPTION OF DESIGNER DOOR TO INCORPORATE = 5; E«gﬁ
BTIONAL TRIM PIECE \ Z | ) , AN INTERIOR FINISH FACE ON ANY DOOR. ' THIS FACE SHALL - | "3sx
7 e - BE FQUAL TO THOSE EXTERIOR FACES APPROVED PER THE o | bigfes
~ ~ n DETAILS ON THIS DRAWING AND BE SECURED TO THE DOOR e = .
>< IN THE SAME MANNER AS THE EXTERIOR FACE. THIS y= |, 53733
:><§ =5 H INTERIOR FACE SHALL BE AN ADDITIONAL LAYER AND SHALL = gm% 325
Ji s — iirlhr NOT REPLACE ANY LAYER SHOWN IN THE DETAILS ON THIS rzz' g;o =3
F SHEET. ALSQO, ALL HARDWARE LAG SCREWS SHALL BE = 2 o &
:qu LENGTHENED TO MIN. 2 1/4” TO ALLOW FOR THE ADDITIONAL = S=3
: U THICKNESS OF THE ADDED INTERIOR SKIN.
L ! \1333%;%%?];*5;’ :_j
A . !I R
l INSTALATION DETAIL S;“?/ E?*c \,_7\9'?6 | 28
INSTALATION DETAIL SHIMMED T0 FILLED BLOCK S b
< O S %, S| C S5
SHIMMED TO WOOD FRAMING OR SOLID CONCRETE PRODUGT REVISED So5ie 3 5 éflt 52
as complying with the Florida - syl 3 ® w ] Zul
Building Code =25 S &
NOA-No. 18112805 =z 22 5 579 &
Expiration Dats 10/10/2022 2,V ™. w ST =
1 “ ézf‘%‘"‘-""d & A TR
By ve 7 e &: S| DRAWING "NO. -
Miami—Dade 'Product Control f”!;ii x .?‘('\ ,g."‘k 1140 F
ERHIALE SHEET NO.
5 oF




